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Exercise

1. Has Lushkoff become a beggar by

circumstance or by choice?

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_720SsodVHQjy


2. What reasons does he give to Sergei for his

telling lies?

Watch Video Solution

3. Is Lushkoff a willing worker? Why, then, does

he agree to chop wood for Sergei?

Watch Video Solution

https://dl.doubtnut.com/l/_720SsodVHQjy
https://dl.doubtnut.com/l/_PqPrtOmeRLQp
https://dl.doubtnut.com/l/_E6dFfkAD9YDu


4. Sergei says, “I am happy that my words have

taken effect.” Why does he say so? Is he right

in saying this?

Watch Video Solution

5. Lushkoff is earning thirty five roubles a

month. How is he obliged to Sergei for this?

Watch Video Solution

https://dl.doubtnut.com/l/_6wrLngcjigMp
https://dl.doubtnut.com/l/_fATzyEX3Qkw3


6. During their conversation Lushkoff reveals

that Sergei’s cook, Olga, is responsible for the

positive change in him. How has Olga saved

Lushkoff?

Watch Video Solution

https://dl.doubtnut.com/l/_Zs3nBDLjMcg2

